27 200 : o o o I
3. B=| 135 295 ] can be written as B = gy V] + oqtiaV2 where (03, U;, V;) are
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(a) Find numbers 7, s such that b = rii, + sii, if b = [ _iég ]
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(b) Fmd a simple expressmn for the numbers p such that @w pu1 +quy if W = o¥) +y¥,
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(d) Find a simple expression for B(z,y,7,s) = ||B® — b|]? with z,y,r, s as in (a) and (b)
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(e) Find =z, y such that E(z,y,r,s) is as small as possible
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Bonus: As in #3, find W so that [|[Bw — b|| < 5%]||b]| and ||[W|| < 3. Equivalently, find z,y
such that E(z,y,r,s) < 0.05%]|bl|? = 120 but L(z,y) < 3%. Answer on the back.
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